How to calculate probability in Binomail distribution 
( By Calculater):
Example 1: Binomail distribution n=5 ,p=0.3 ,q=0.7
                           X ~ Binomail(5,0.3)
Find 
1)   P(X ≤ 2) =?
                                       
                            
         )



To write the following in calculator : 
	                         
                             
X                                     Alpha   )

5C2                              5 shift  ÷   2




2)   P(X  3) =?
                                   =    
                            
         )
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